TRAILRIDGE PROJECTS

1-Lights Yellow Water Ballfields

2-Baldwin Baseball Items

3-Maxville Drainage

4-Contingency

\$108,342.17 BALOWN, FL 37234

\$10,000.00 BAUNULA .32234

\$143,751.45 1806 5 pennsy LVaniA

\$5,000.00

\$267,093.62



3230 Kline Road, Jacksonville, FL 32246 904-620-0081 fax 904-620-9815 FL LICENSE: EC000001181 www.bgelectrlc.net

TO:City Of Jacksonville Finance Department/Accts Pay 117 W Duval St, Ste 375 Jacksonville FL 32202 kmeyerl@coj.net

500 YELLOW WATER IL

DATE:8/8/2019 RE: YELLOW PARK LIGHTING

QUOTE

INCLUDES: MATERIAL, EQUIPMENT, LABOR, AND NECESSARY PERMITS TO COMPLETE THE FOLLOWING: REPLACE BALL PARK LIGHTS AT YELLOW PARK

SCOPE:

- 1. REPLACE 18 1000 WATT METAL HALIDE LIGHTS WITH 450 WATT LED LIGHTS ON EXISTING POLES AND CROSS ARMS
- 2. REPLACE 46 1500 WATT METAL HALIDE LIGHTS WITH 600 WATT LED LIGHTS ON EXISTING POLES AND CROSS ARMS
- 3. REPLACE WIRING FROM LIGHT TO JUNCTION BOX ON POLE
- 4. DOES NOT INCLUDE NEW WIRE IN POLE OR UNDERGROUND TO ELECTRICAL PANEL
- 5. BEFORE WE START, B&G AND THE LIGHTING VENDOR WILL COME OUT AT NIGHT TO GET A PHOTOMETRIC IAY-OUT. THIS WILL ALLOW US TO PROVIDE THE BEST REFLECTORS AND LENSES FOR THE LIGHTS. THIS IS INCLUDED IN THE QUOTE.

Work to be performed will meet local and national code requirements. Any additional work required due to preferences of City of Jacksonville inspectors or the JEA is not included.

Any cutting, patching and painting of walls, etc in order to accommodate electrical installation not included and to be done by others.

TOTAL, INCLUDING TAX: \$108,342.17

England

All credit card payments will incur a 5% service charge for Visa, Master Card, Discover and American Express. This is NOT reflected in the total above.

Quotation is good for 30 days, however, since no schedule was provided prior to this quote, we reserve the right to decline this job based on schedule or manpower requirements. Work not specifically mentioned above is excluded. Repair warranty, unless stated differently above, is 1 month part(s) and

We hope this meets with your approval. If so, please sign and fax or e-mail to patrick@bgrefrigeration.com or susan@bgrefrigeration.com. If you have any questions or concerns, please do not hesitate to call our office.

APPROVED BY: DATE:

Best Regards.

Electrical Supervisor B&G Electric

/ssm



J.B. Coxwell Contracting, Inc.

6741 Lloyd Road West Jacksonville, Florida 32254 Office (904) 786-1120 Fax (904) 783-2970

July 18, 2019

Parks, Recreation & Community Services Department Ed Ball Building Daryl Joseph 214 N. Hogan Street, 4th Floor Jacksonville, FL 32202

JAK, FL. 32234

RE: Maxville Ball Park Underdrain - REVISION #1

Dear Daryl:

J.B. Coxwell Contracting, Inc. (JBCCI) is pleased to provide a quote on the Maxville Ball Park Underdrain.

Description:	Quantity:	Unit Price:	Total:
Mobilization	1/LS	\$23,746.850	5 23,746.85
Erosion Control	1/LS	\$ 1,575.000	\$ 1,575.00
Maintenance of Traffic	1/LS	\$ 630.000	\$ 630.00
Demo/Repl Sidewalk	17/SY	\$ 91.362	\$ 1,553.15
Type 2 Underdrain	2,400 LF	\$ 32.525	\$ 78,060.00
Underdrain Clean-Out	15 EA	\$ 326.051	\$ 4,890.77
Yard Drains	5 FA	\$ 1,059.188	\$ 5,295.94
Field Restoration	7,750 SY	\$ 3.613	\$ 28,000.75
		TOTAL:	\$ 143,752,45

If you should have any questions, please contact me at (904) 591-2946.

Respectfully,

J. B. COXIVELL CONTRACTING, ING.

Chris Blank

Vice President of Operations



13913-100 Duval Road Jacksonville, FL 32218

866-349-0057, fax 904-321-1820 www.burbanksportnets.com

Estimate

Date	Estimate #			
7/3/2019	27847			

Name / Address	
Baldwin High School 291 Mill Street West Baldwin, FL 32234 Attn: Matt Carter	

Ship To			
RG Deliver			

PLEASE NOTE:
Burbank Sport Nets will not be responsible for existing structures, fences, demolition, concrete, landscaping, utilities, or ruts/marks caused by equipment. Every effort will be made to preserve the original site. Burbank Sport Nets reserves the right to withdraw this proposal if not accepted within 30 days.

Terms	Rep	Project
Net 30	CRG	

	Description		T	Qty	Rate	Total
		-	40.7	Nate	TOTAL	
Baseball Equipment Needs: Batting Cage Netting: 1-3/4" Square #42 Nylon Netting, Black, BSF Treated			1	1,922.00	1,922.00	
Dimensions: 10'6"H x Cable Kit for Cage In	. 13'W x 67'L with 2 Pro-Wr istallation	rap Doors		1	250.00	250.00
Artificial Turf .4375 Pile Height / Latex Backing			1	1,599.00	1,599.00	
12'W x 68'L Includes Cut Fee and	l Shipping					
8' x 12' Pro (with Wheels) Field Screen			1	697.00	697.00	
To serve as Divider in Cages to create two front toss cages 5' x 7' Standard (without Wheels) GBS L-Screen / Galvanized or 2 BRC 7' x 7' L-Screens - \$289 each			2 490.00		980.00	
Replacement Netting for Single Hitter Portable Cage Replacement Safe Foam and Vinyl for Single Hitter including Ball-Stop			1 1	599.00 299.0 0	599.00 299.00	
Safe Foam for Batting Cage Poles - 8' Lengths			8	24.00	192.00	
6' x 12' Home Plate M	Nats / Clay or Green			2	340.00	680.00
Replacement Wheels and Washers for BC 200 Ball Cart			1	49.00	49.00	
Burbank Installation / Cage, Turf, Single Hitter Netting			1	1,250.00	1,250.00	
				Subtot	al	\$8,517.00
Phone: 904-321-0976 866-349-0057	Fax: 904-321-1820	Email: info@burbanksportnets	.com	Sales Tax (7.0%)		\$0.00
www.burbanksportnets.com			Tota	l	\$8,517.00	

Exhibit 2